- Definition of partial differentiation
- order or successive differentiation
- -total differentiation and chain rule
- change of variables from cartesian to polar coordinates
- condition for maxima and minima (without proof)
- Linear homogenous partial differential equations with constant coefficients.
- Rules of finding the complementary function.

Questions from previous years papers oct-16 1 for a function F(x,y), & 44 are cartesian coordinates write down these coordinates in polar form.

@ Explain maxima and minima.

mar-15 O Emplain chain rule.

Nov-14 (1) Explain condition for maxima and minima.

Parkal allferentiation:

#

Definition: Let Z = f(x, y) be function of two variables x and y.

If we keep y constant and x vaniable then I becomes a function of y only.

The derivative of \$\mathbb{z} \times with respect to \$\mathbb{z}\$, keeping 4 constant is called partial derivative of \$\mathbb{z}\$ with \$\mathbb{z}\$ and is "denoted by",

Then
$$\frac{\partial Z}{\partial x} = \lim_{dn \to 0} \frac{f(n+dn, u)}{dn} - f(n, u)$$

Similarly,

The partial derivative of 2 and 4 beeping of 2 and 4 and 4 and 4 beeping of 2 and 4 and

then
$$\frac{\partial Z}{\partial y} = \lim_{x \to 0} \frac{f(x, y + \delta y) - f(x, y)}{\delta y}$$

Particul differentiation of higher orders (successive differentiation)

Let Z = f(x,y) then $\partial x/\partial x$ and $\partial x/\partial y$ being the functions of x and y com be further be differentiated partially with respect to x and y

Then symbolically,
$$\frac{\partial}{\partial x} \left(\frac{\partial x}{\partial x} \right) = \frac{\partial^2 x}{\partial x^2}$$
 or $\frac{\partial^2 x}{\partial x^2}$ or $\frac{\partial^2 x}{\partial x^2}$

(2)

$$\frac{\partial}{\partial y} \left(\frac{\partial Z}{\partial x} \right) = \frac{\partial^2 Z}{\partial y \partial x} \quad \text{or} \quad \frac{\partial^2 f}{\partial x \partial y} \quad \text{or} \quad \text{fyx}$$

$$\frac{\partial}{\partial x} \left(\frac{\partial Z}{\partial y} \right) = \frac{\partial^2 Z}{\partial x \partial y} \quad \text{or} \quad \frac{\partial^2 f}{\partial x \partial y} \quad \text{or} \quad \text{fxy}$$

$$\frac{\partial}{\partial x} \left(\frac{\partial Z}{\partial y} \right) = \frac{\partial^2 Z}{\partial x \partial y} \quad \text{or} \quad \frac{\partial^2 f}{\partial x \partial y} \quad \text{or} \quad \text{fxy}$$

$$\frac{\partial^2 Z}{\partial x \partial y} = \frac{\partial^2 Z}{\partial y \partial x} \quad \frac{\partial^2 Z}{\partial x \partial y} \quad \frac{\partial^2 Z}{\partial y \partial x} \quad \frac{\partial^2 Z}{\partial x \partial y} \quad \frac{\partial^2 Z}{\partial x} \quad \frac{\partial$$

Ex:
$$f(x,y) = x^2y$$

 $\frac{\partial f}{\partial x} = 2xy$ (keeping y constant)
 $\frac{\partial f}{\partial y} = x^2$ (keeping x constant).

$$\frac{\partial 4}{\partial x^2} = 2y$$

$$\frac{\partial^2 4}{\partial x \partial y} = \frac{\partial^2 4}{\partial x} \left(\frac{\partial f}{\partial y}\right) = \frac{\partial}{\partial x} (x^2) = 2x$$

$$\frac{\partial^2 4}{\partial y^2} = 0$$

$$\frac{\partial^2 4}{\partial y \partial x} = \frac{\partial}{\partial y} \left(\frac{\partial f}{\partial x}\right) = \frac{\partial}{\partial y} \left(2xyy\right) = 2x$$

It Total differentiation and chain rule-He consider a function f. Z = f(x, y) -0 ie a function z of two variables.

let (x,y), (x+dx, y+dy) be any two points so that dx, dy are the changes in the independent variables x and y.

let dz be the consequent change in z.

.. we can write z+dz = f(x+dx, y+dy). -@

from equation (1) and (2).

d. (ade substract ear (from ear ())

: Z+dZ -Z = f(x+dx, y+dy) - f(x,y) dx = f (x+dx, y+dy) - f(x,y)

dz = f(x+dx, y+dy) - f(x,y)add and subtract f(x+dx,y) dx = f(x+dx, y+dy) - f(x+dx,y) + f(x+dx,y) - f(x,y) - f(x+dx,y)

netho

Lagrange's mean value theorem
$$\frac{f(a+h) - f(a)}{b} = f'(a+ah). \qquad \frac{f(b)-f(a)}{b-a} = f(c)$$

$$\frac{f(x+dx,y+dy)-f(x+dx,y)}{dy}=f_y^{(x+dx,y+\omega dy)}$$
 at constant

$$\frac{f(x+dx,4)-f(x,4)}{dx}=f_{x}(x+odx,4)$$
 at constant y.

$$f(x+dx,y+dy)-f(x+dx,y)=dy.fy(x+dx,y+ady)$$

$$dZ = \frac{\partial f}{\partial y} dy + \frac{\partial f}{\partial x} dx$$

$$\therefore dz = \frac{\partial f}{\partial x} dx + \frac{\partial f}{\partial y} dy$$

$$\therefore dz = \frac{f(x+dx,y+dy) - f(x+dx,y)}{dy} + \frac{f(x+dx,y) - f(x,y)}{dx} dx$$

$$dx = \frac{\partial f}{\partial y} dy + \frac{\partial f}{\partial x} dx$$
This is the expression few partial differentiation

Compasite function (chain rule)

Let $\chi = f(\chi, \Psi)$ and let $\chi = \phi(t)$ and $\chi = \psi(t)$ so that χ and ψ are themselves functions of a third variable t.

let $\chi(x,y)$ possess continuous partial derivatives and let $\alpha = \phi(t)$ and $y = \phi(t)$ adom possess continuous derivatives.

Then
$$\frac{dz}{dt} = \frac{\partial z}{\partial x} \cdot \frac{dx}{dt} + \frac{\partial z}{\partial y} \cdot \frac{dy}{dt}$$

$$x = \phi(t)$$
 $y = \phi(t)$
 $x + dx = \phi(t + dt)$ $y + dy = \phi(t + dt)$

$$z + dz = f(x + dx, y + dx) \qquad \begin{cases} 3z = f(x, y) \\ 4z = f(x + dx, y + dy) \end{cases} = f(x, y)$$

$$= \frac{1}{2} \left(\frac$$

=
$$\frac{\partial f}{\partial x} dx + \frac{\partial f}{\partial y} dy$$
 by taking limits as $dx \to 0$ and $dy \to 0$.

$$\frac{dz}{dt} = \frac{\partial f}{\partial x} \frac{dx}{dt} + \frac{\partial f}{\partial y} \frac{dy}{dt}.$$

(3)

a. Find $\frac{dz}{dt}$ when $z = xy^2 + x^2y$ when $x = at^2$ and y = 2at.

The find out $\frac{dz}{dt}$ by chain rule we can write

$$\frac{dz}{dt} = \frac{\partial z}{\partial x} \cdot \frac{dx}{dt} + \frac{\partial z}{\partial y} \cdot \frac{dx}{dt} \cdot 0$$

$$\therefore x = at^2 \quad and \quad y = 2at$$

$$\frac{dx}{dt} = 2at \quad \frac{dy}{dt} = 2a.$$

$$\frac{\partial x}{\partial x} = y^2 + 2xy$$
 and also

.: ean O becomes,

$$\frac{dz}{dt} = (y^2 + 2\pi y) \cdot 2\alpha t + (2\pi y + \chi^2) \cdot 2\alpha.$$

= 2aty2 + 4xyat + 4xya+2x2a.

$$\frac{dn}{dt} = a^3 (16t^3 + 10t^4)$$

Change of variables from cartesian to polar coordinates from diagram, $sin = \frac{y}{x}$ $\frac{y}{x}$ $\frac{x}{x}$ O-opor= x & mist = 8: and also squaring and adding ean (1) and (2) we get x2+42= 82 (sin20+(0520) 212+42 = x2 :. ~= \square x2+y2 and dividing egm (1) by (2) we get tano = 4/x = a = tant (4/x) VX=8000 y = rsino 3y = sino $\frac{3x}{2x} = \cos 0$ $\frac{\partial y}{\partial w} = x\cos w$. $\frac{\partial w}{\partial x} = -ssin \omega$ y= √x2+42 $\frac{\partial Y}{\partial x} = \frac{2x}{2\sqrt{x^2+y^2}}$ $\frac{\partial r}{\partial y} = \frac{2y}{\sqrt{x^2 + u^2}}$ = 21 $= \frac{y}{\sqrt{x^2 + y^2}}$ = rsino = 2030 = coso. = sin co 0 = tan (4x) $\frac{\partial \sigma}{\partial x} = \frac{1}{1 + (\frac{1}{2} \frac{1}{4})^2} \left(-\frac{1}{2} \frac{1}{4^2} \right) = \frac{-\frac{1}{2} \frac{1}{4^2}}{1 + \frac{1}{2} \frac{1}{4^2}} = \frac{-\frac{1}{2} \frac{1}{4^2}}{\frac{1}{2} \frac{1}{4^2}} = \frac{-\frac{1}{2} \frac{1}{4^2}}{\frac{1}{4^2} \frac{1}{4^2}} = \frac{-\frac{1}{2} \frac{1}{4^2}}{\frac{1}{4^2}} = \frac{-\frac{1}{2} \frac{1}{4^2}}{\frac{1}{4$

$$\frac{\partial \sigma}{\partial y} = \frac{1}{1 + (\frac{y}{x})^2} \cdot \frac{1}{x}$$

$$= \frac{\frac{1}{(x^2 + y^2)}}{\frac{x^2 + y^2}{x^2}} \cdot \frac{1}{x}$$

$$= \frac{1}{(x^2 + y^2)} \cdot \frac{1}{x}$$

$$= \frac{1}{(x^2 +$$

$$\frac{9x}{9x} = \frac{9x}{9x} \cdot \frac{9x}{9x} + \frac{9\alpha}{9x} \cdot \frac{9x}{9\alpha} = \frac{9x}{9x} (\cos\alpha) + \frac{9\alpha}{9x} (-\frac{x}{\sin\alpha}).$$

$$\frac{\partial \lambda}{\partial \lambda} = \frac{92}{92} \cdot \frac{94}{92} + \frac{90}{90} \cdot \frac{94}{90} = \frac{92}{90} \cdot (\sin \theta) + \frac{2}{90} \cdot (\cos \theta)$$

$$\frac{3\alpha}{9\Lambda} = \frac{9x}{9\Lambda} \cdot \frac{9\alpha}{9X} + \frac{9\Lambda}{9\Lambda} \cdot \frac{9\alpha}{9\Lambda} = \frac{9x}{9\Lambda} \cdot (\cos \alpha) + \frac{9\Lambda}{9\Lambda} \cdot (\sin \alpha)$$

$$\frac{\partial V}{\partial 0} = \frac{\partial V}{\partial x} \cdot \frac{\partial X}{\partial x} + \frac{\partial V}{\partial y} \cdot \frac{\partial Y}{\partial 0} = \frac{\partial V}{\partial x} \left(-\pi \sin \theta \right) + \frac{\partial V}{\partial y} \left(\pi \cos \theta \right).$$

$$\frac{\partial}{\partial x} = \frac{\partial}{\partial x} (\cos 0) + \frac{\partial}{\partial 0} (\frac{-\sin 0}{x}).$$

$$\frac{\partial}{\partial y} = \frac{\partial}{\partial x} (\sin 0) + \frac{\partial}{\partial 0} (\frac{\cos 0}{x}).$$

These two equations gives the transformation of f(x,y) into f(x,0) le from cartesian coordinate system to polar coordinate system.

Condition for maxima and minima (without proof)

- . The term extreme is used for both maximum and minimum.
- The necessary conditions for maxima and minima of a a function is that its first derivative must be equal to zero.

 ie f'(x) = 0.

Here we assume that the function for is differentiable cort x.

- The fun f(x) is a minimum value of the fun f if f'(x) = 0 and f''(x) > 0.
- of flows a maximum value of the function f if flows and flows (0.
- Ex: find maximum and minimum value of the given function (f).

$$f(x) = 3x^{2} + 5x^{3}$$

$$f'(x) = 6x + 15x^{2}$$

$$f(x) = 6x + 15x^{2} = 0$$

$$2x + 5x^{2} = 0$$

$$2x = -5x^{2}$$

 $f'(x) = 6x + 15x^2$ f''(x) = 6 + 30x f''(-215) = 6 + 30x(-215)= 6 - 62

=-6'20 : f(-26) is a marimum value.

x=-4c

Linear Homogenous Partial differential equations with constant coefficients:-

An equation of the type

$$a_0 \frac{\partial^n z}{\partial x^n} + a_1 \frac{\partial^n z}{\partial x^{n-1} \partial y} + a_2 \frac{\partial^n z}{\partial x^{n-2} \partial y^2} + \dots + a_n \frac{\partial^n z}{\partial y^n} = F(x,y)$$

is called a homogenous linear partial differential equation of 10th order with constant coefficients.

It is called as homogenous because all the terms contain derivatives of the same order.

putting
$$\frac{\partial}{\partial x} = D$$
 and $\frac{\partial}{\partial y} = D'$.

$$(a_0D^n + a_1D^{n+}D^1 + - - + a_nB^{n})z = F(x,y)$$
or $F(D,D')z = F(x,y)$.

Pules of finding the complementary function.

consider the equation

$$a_0 \frac{\partial^2 z}{\partial x^2} + a_1 \frac{\partial z}{\partial x \partial y} + a_2 \frac{\partial^2 z}{\partial y^2} = 0$$

18 step: Put D=m and D'=1

This is called as auxillary equation,

and step: solve the auxillary equation

· ~ Case I: 25 the mosts oil the auxillary eqn are real and different. say mi and m2.

Then complentary function CF = f1 (y+m1x) + f2 (y+m2x)

V case II: If the mosts are equal, say no Then $CF = f_1(y+mx) + f_2(y+mx)$

solve: 10 03 - 402014 30012 =0

m3-4m2+3m=0 $m(m^2-4m+3)=0$

m(m+)(m-3)=0

M=0 M=1 M=3.

:. the required som is, 7= fily) + f2(y+x1) + f3(y+3x)

(D2 - 4DD1 + 4D12) Z =0

D=m and $D^1=1$

m2-4m+4=0

 $(m-2)^2=0$ =) m=2,2

- the required som is z=fi(y+2x) + 2 fz (y+2x).